SSC Exam Questions

Sunday, March 12, 2023 4:00 PM
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Q.1 The cost price of an article is Z 2800. Profit as a percentage of selling price is 20 percent. What is the actual profit
(in )?

Lk SP = (6D Profk — 207, ™ SP = (20 |, thaw Cp - SP-profit
ocbial PRt |, — =3 w0 = asy, ) T 5o ~20 = 3

foheok profit- = 159 9 290 = 36D

Q.1 Asold a mobile phone to B at a gain of 25% and B sold it to C at a loss of 10%. If C paid 25,625 for i1, how much did A
pay (in 2) for the phone?
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Q.2 The sum of the curved surface area and total surface area of a solid cylinder is 2068 em?. If radius of its base is 7 cm,
then what is the volume of this cylinder? ( use 1=22/7) 7\,."‘4,
Cowed sutloce area = 23k 2L AYI+ LAY (‘Y-{'L\) = 206%
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- 27\1’(Y+ k) 5 2.22 7(,'((—“,'»,\) — 206% .
2-0+L~0 Ans X1 2060 cm’ x sore Fep= M
., —~ Jo _ cw
1-Y+2-h % 2480 cem’ 2 y (G2 — = ﬂ
2 =
2-04¢-0 ¥ 3080 cm’ .?:- > 27\7( {4 ’Ll,\}
2-3t -6 x4 2760 (.1113 ( 2 ——
Yl D o
ﬁ‘

Q3 Ifsinfh=(9/41). 0° < 8 < 90° then what is the value of cotf?
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Q.5 Acan finish a piece of the work ia 16 days and B can finish it in 12 days. They worked together for 4 days and then A
left. B finished the remaining work. For how many total number of days did B work to finish the work completely?
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Q.6 Asolid cube of side 8 cm is dropped into a rectangular container of length 16 cm. breadth 8 cm and height 15 em which
is partly filled with water. If the cube is completely submerged, then the rise of water level (in cm) is:
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Q.7 If (x + 6y) =8, and x)*w 2, where x > 0, what is the value of (x3 + 216y3)?
24 ' =8 'xo'ly}/_\ & UL =2

Q10 1f4s5in?0 = 3(1+ cosf),0° < @ < 90°, then what is the value of (2tanf + 4sinf — sec)?
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Q.11 The lengths of the three sides of & right-angled triangle are (x — 1) cm. (x — 1) cm and (x + 3) cm, respectively. The
hvpotenuse of the right-angled triangle (in cm) is:

2,455 s,y I3 ¢ § 0 — 7=7 1002
Q.16 Find the greatest number 23a68b. which is divisible by 3 but NOT divisible by 9.
2t feres brt) = @ratlb L Mkas) — 2840 ;'\ ¢ Ni %—
239035 b=%02 B4
/ Q.2 When A commodity is sold for Rs. 34.80, there is a loss of 25%. What is the cost price of the
CP SP commodity? 'Y ’ ’
oY ) \
f D( P w lSDO/D up?;/Rs. 46.40 |' —-cl
O 7 cp — d% (B) Rs. 26.10 '
N (C) Rs. 43 !
s sP LCP — Logmo/ O
cp (D) Rs. 43.20 o -|
dugeonnt - ¢ !
— SP = é cp
M d=se-mf 7 38 3 :

Q.3 If the S.P. of an article for is 4/3 times its C.P. the profit peréent is.......

il pt = Sf" onx \/%33”3% 5p = \‘/3CP
LLEE ‘) < (B) 25 1/4 % - _ - '/ P
P= Tep-4 = A
(C)20 % % U,
(D) 20 % % _P— = '/3 = ggé/’
) Cp
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Q.4 By selling an article for Rs. 19.50, a dealer makes a profit of 30%. By how much should he l/ .
increase his S.P. so as to make a profit of 40%? ~_ ZV\aL '/3 - '53 3 .
A l-2¢cp= 15 Ve — 25‘/
(B)Rs. 1.75 | Y 6
cf= " S y 20 °
C)Rs. Y= 19 —
(C) Rs. 2 Toncr esSe_ = Qg)q Y q ) /5' A
(D)Rs. 3 - 0.
- (21-) =% | v
- |
'L/ .
Q.5 The C.P. of 20 articles is the same as S.P. of 15 articles. The profit percent is.... l/;’/ — |\{ P /e
() 25% 2007 = 'S¢P Cp=1'% l y ‘/
(B) 30% 2) (42 Sp= 20 /<2 — 12
Sp~ 2° of = S /
)331/3% = =/ | [)
(C) 50% ﬂ
N ) ( [ l,/
Q.6 A fruit seller purchases oranges at the rate of 3 for Rs. 5 and sells them at 2 for Rs. 4. His profit /| 0 - O /o
iSeee.
4 oo~ -2 A - (b | _ < ( l '/
(A) 10% V\a cp = | Cp= /3 /“ - 6‘/ll °
S¢ = \2—~ | )
(B) 11% | Sp= Y. ’o?
“bfiy = 20° - /
\)Z'{)ZO% P Fq’ /° . 2’{/2 g °
\ B —
(D) 25% S /3

Q.8 A man buys eggs at 2 for Rs. 1 and an equal number at 3 for Rs. 2 and sells the whole at 5 for Rs.
3. His gain or loss percent is.......

1 20 — (¢ I L
) - g ! ZD °
(A)22/7 % ! 26 — 2D Cf S °/f = ; 7/5)/ »
) | b /5/
(B)36/7 % . P <zC | x
(C)32/7% e e e e =TT
\AD) 2 6/7 %
Q.9 A sells a bicycle to B at a profit of 20% and B sells it to C at a profit of 25%. If C pays Rs. 1500,
what did A pay for it?
A < 1 |
(A) Rs. 825 _ 120 \sD . \S6D
s A =CP R * Ty A
Rs. 1000 -
AT sp B = Ccpc = ['2ERI20 = [pD | §5D
(C)Rs. 110D
[{)} Rs. 1125 Q.10 Two mixers and a TV costs Rs. 7000, while 2 TVs and a mixer cost Rs. 9800. The values of one
TVis...... -
(A) Rs. 2800 Y+ ZJ = [1goD lvov + ')»a = 3¢w
(B) Rs. 2100 A 4 = 9%H0
\/(}Rs_ 4200 v 2 a = 4260
_ ¥ -
TAL= yaood
(D) Rs. 8400

% T = (yp - M

SSC Page 3



Profit, Loss and Discount

Thursday, April 13, 2023 8:00 AM

CP — 16D
A tradesman marks his goods at 35% above its cost price and allows a discount of 17.5% for purchase in
cash. What profit per cent does he make ? M P _ "5 g
_ b
.:;_\"- 11.25 SP = Qm'l?'ﬁﬁi} HP
B 12125 - 22“'5'%\3?
()
(c) nazs - H ng’{ 22U
_ L 1%~
‘/[_) ) 11.375 —_—
Y| 23
I
M
A trader sells his goods at 20% profit. Had he bought it at 10% more and sold it for Rs. 70 more, he 2 < )( X
would have earned a profit of 25%. Find the cost price of the goods. ?
=% 335
(A) Rs.200 (99
(B) Rs.800 CP’/I°|7’
P ( _ 1 +? 0
“C) Rs.400 sp =
o= BUE
. . O
(D) Rs.600 0 It N
—
_ |28 %
( breok even) 2 26 = 0°1%
A trader sold two bullocks for Rs. 8,400 each, neither losing nor gaining in total. If he sold one of the l < D - 07’g *
.8, . - z 0D =
Sf _ &\160 bullocks at a gain of 20%, then the other is sold at a loss of 7

C1- €0 (a) 20% ey — |c,m\/

sP Mp =

After getting two successive discounts Shalini got a shirt at Rs. 136 whose marked price is Rs. 200. If
the second discount is 15% find the first discount.

A 12.5% _ 15D - % X 25°
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3. By selling 32 oranges for ¢ 30 a man losses 25%. How

;:llat?!e otl;aal:lgs:: tsil;;)\l;ld be sold for 7 24, s0 as to gain 20%
(4) 1(6) % Eljme of these s
2 /L — |
A
2 — 7o 1T

4..The cost price of 24 apples is same as the selling price of
18 apples. The percentage of gain is

1121 % (2)14?3.% (3}16%%

¢
335 % (5) None of these

5. A merchant bought some goods worth ¥ 6000 and sold
half of them at 12% profit. At what profit per cent
should be sell the Temaining goods to make and overall

cP— sp= 1P .
) —%CP"' SP"{V
=) C’P:%
S
sSveE - =
SP = /\1 — - 2
24yCP = 1g Sf
_ SP L

PTDFL = l(gd/uﬁ 07

— LO¥O

profit of 18%? 23600 @ v °/° Fwe r
I L >eo

Yemmining = 720 MYM@W}%" 200D

S

6. The equivalent discount to consecutive discounts of

10% and 20% will be
(1) 32% 28% 13) 36%
(4) 30% (5) None of these

shopkeeper sells his goods at 15% discount. The

- ked price of an article whose selling price is 629 is
7740 (2) ¥ 704 (3) T 700
() T 614 (5) None of these

10. A dishonest dealer professes to sell his goods at cost
price but he uses a weight of 800 g for a kg weight. Find
his gain per cent.

. o]
<. 0

(1) 35% (2) 56% (3) 23%
AT 25% (5) None of these
M Gain % = 1T€ “':::‘e ;::‘;‘""3“‘ x100% Q st
ice
11. A dishonest dealer sells artiC_les at 10°1;‘ losss O‘:q c}::astt iI:-,nhis
but uses the weight of 1‘1? instead of 18 g.
profit to loss per cent? 1 ¢
% gai (2) 1-% loss p
(1 ria gain ‘%
3) 3%% loss (@ 5 %gan

(5) None of these
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12. A dishonest dealer sells his goods at 10% loss on cost
price and uses 30% less weight. What is his profit or loss

per cent? s o
(1)282%Ioss - -

7
@ 28§%gain

g cp~ FYlsp = D
(3)23=%loss - -

7 $9 = |gxq0 = 16D

(4282 % gain L 160 o = 4o ™
\ﬁaozueoftheabove ?ﬁF\l/ /: - _3/ /° = ;)//. ZM

1. Suhas sold an item for ¥ 7500 and incurred a loss of 25%. cp = oWV

At what price, should he have sold-the item to have
gained a profit of 256%?
(1) ¥13800 12500

(3) ¥ 11200 (4) Can't be determined
P

!_51' None of these ST
7. A merchant has 1000 kg of sugar, part of which he sells |03 L+ - \gé S‘o‘D-—’?

at 8% profit and the rest at!8% profit. He gains 14% on 1140

the whole. The quantity ssl/deg%&% profit is
(1) 500 kg 00 kg -~ 130 = D'l = ™0

fﬁfn‘/\/ (3) 400 kg (4) 640 kg
/ (5) None of these ~ L = YoD
0-0% L 0=1&C‘5UD-@ = 4D 7

20 —Ilyp = 0-[™
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